gel’'s

professional

(W
PFF 2420 PFT 2515

Mounting instructions
Montagevoorschrift
Instructions de montage
Montageanleitung

Guia de montaje
Istruzioni di montaggio
Instrucoes de montagem
Monteringsanvisning
Instrukcja montazu

PekomeHAaL1K1 No yCTaHOBKE

. Max. PFF 2420: 70 kg / 154 lbs
PFT 2505: 70 kg / 154 lbs
PFT 2510: 55 kg / 121 lbs

o“‘\M""@

150 9001 : 2000 /
CERTIFIED

004 :u:m’\“Q

PFT 2520

06-2015

1 PFF 2420

1 [] Optional: PFB 34XX

PFF 2420
PFT 2515
PFT 2520 e

11 PFF 2420
PFT 2520

Optional
PFB 34XX
PVA 5050

PFF 2420 A = 4x Connection plate
PFT 2520 B = 8x DIN912 Hexagon socket
head cap screw M8x50
C = 1x Foot
D = 1x Columnleft
E = 1x Columnright
F = 1x Coverstand high
G = 2x 1507380 Hex socket button
head screw M10x30
H = 1x Intercolumn
I = 1x Frontplate
J = 1Ix Backplate
PFT 2515 A = 4x Connection plate
B = B8x DIN912 Hexagon socket
head cap screw M8x50
C = 1x Foot
D = 1x Columnleft
E = 1x Columnright
F = 1x Coverstand high
6 = 2x [S07380 Hex socket button
head screw M10x30
H = 1x Intercolumn
I = 1x Frontplate
J = Ix Backplate
OPTIONAL ® WARNING
e

®

(6B) Subject to printing errors and technical amendments.

(NL) Drukfouten en technische wijzigingen voorbehouden.

(F) Sous réserve de fautes d'impression et de modifications techniques.

(D) Fiir Druckfehler ibernehmen wir keine Verantwortung. Technische Anderungen vorbehalten.
(E) Reservados errores de imprenta y sujete a modificationes.

(1) Con riserva di modifiche techniche e di eventueli errori di stampa.

(P) Reserva-se a ocorréncia de gralhas e de modificacdes técnicas.

(H) Nyomdahibik és technikai valtoztatdsok joga fenntartva.

(PL) Zastrzega sig mozliwost wystep ia bedow ich i zmian

(RUS) BoamoxHb! OLLIMOKY NPy NeYaTi 1 TeXHU4ECKUe MoMAHKaLA.

| No!

12 PFF 2515




